p(r)

Ratio to ATLAS

10

1071

[EEY

0.5

7000 GeV pp Jets
— | | I T T T T T I -2
| -
— — O
u — >
- _1®
B 1=
m ATLAS _tg
| --3-- Herwig 7.2.0 default AN
—a— Pythia 8.301 default o
----- ¢ Sherpa 2.2.5 default oﬁ
5 78
L 4
L )
(4p]
<
(90)
— —9
- 1O
- _1m
- R
- =
B P
S,
| =
(&)
. <
()
©
[72]
— =k
— -1 O
L HE
| | | | | | | | | | | I = =
:| } t i | T T T | T T T |:
- —2
. O RS e R s M
é_f__ ............. ~SO— f _____________________ r YRR A h 1
| —0.5
| 1 1 1 | 1 1 1 | 1 1 1 |
0 0.2 0.4 0.6



	Contents
	Page 1


